oO0O0o0oogd g0

24 00O

ABOOO0OOODADDDODO 00O BOOOBKODDODOO
000 f0000 ADDOOCD BODOOO (mapping,map) 0000
f:A—B o0oOo ALB

ooooooo
DacADDODOO0O0ObGeBOOO fO000 00 (image) 00
O0b=fe)JODOOOO0OD0eD fOOObO0O0O (preimage) 00O
O00«00000000D0000 (0000000000 000)
000s00000000000000000000000000
000000000000000000000000 (function)®
Ooooo

0Dz000 f(2) 000000000 2+ flz)0000000
D0000000000000000002000 y= f(z) = 22
D00D0D000OO0RODOROOOOOOODODfOO0Ox€eRO
O0 200000000

f:R — R
r — 2’

gooo

00 2.6 ADBO0OOOODADO BOODODO f:A—BDO

goo

(1) D000 A0O0O0OO (domain) 0000 BOOO (codomain)
goobo

fA) ={f(a)|ac A} ={beB|JacA b= [f(a)}

000 (range) 00000 (image) D000
(2) 00 AOD0D AD0DODODOOOOO0OO00OO0 aeAOdaO0O
00000000 (identity map) 000 0idy 000 14 OO0
O00000 (00000Va€ Aida(a) = 0000)0
(3) f(A)=BO0OO0000O00f0 OO0 (surjection) 00000
0000 (enmtomap) 0000000 ODOOOOOOO

oo0o0000000000000000000000000000000
obooobooboooooboboooooboooooboobooboDbo
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[ Vbe Bdac A b= f(a) )

ooood

(4) oond a17a2€ADDDDD(I1§£6LQDDDD f((ll)?éf<a2)
00000 f000 (injection)J 000 10 1000 (one-to-
onemap) 0000000000 COCOOO

[ Val,ag cA ai 7é ay — f(CLl) 7& f(&g) ]
goodooooon
[ ‘v’al,ag cA f(CLl) = f(ag) — a1 = Q9 )

J0o0oo0obooobooboobDboooboobooooo
goboboboooon

(5) 00 fO00D00O0O0DODOOOOOOOO (bijection) D000

(6) 00000 f:A—B,g:B—CO00OA(a) =g(f(a))
ooobooboo h:A—COD0O0O0ODODODOO fOyg
00000 (composite mapping) 00 0h=go f 0000
gooon

() boooo f:A—BUOyg:C—DOOOOOOOO 20
00000000000 f=¢g0000A=COB=D00O

Vae A f(a) = g(a)

gboogoobobbodboooboobbobbbogoboo
goboboooooboood

o000 29 A={1,2}000000000000000O0O A
gbogobuodgbogobuoogobuogboobobuooboo
gbobbooogbbbuooogbbbod

0000210 A={1,23}000000000000000O0O
AODODO0OODOO0ODOOODOOUODODOODOOOOObOUODbDOODbDOO
gbobbooogboo

0000 (0000000ooooD)0 ADDCOOOO BOOO
oooboooobonD f-A—BOOUODODOOODODOOO
000000000000 000000 (00000oooooo)
goboboobooogn

obodb 211 NOONOOOOOODOODOODOoOOooooobo
gboobooNDOONOODDOOoODbooboobooobobo
goooo
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f:X—YDOOOOOOyO200000000000000
D0000y=f(z)=2?0200y0000000000000
00000y=f(z)=2*00000000(00)0000000
00000 (000000)000000y=f(z)=2?00000
000000000000000000000000000000
0Dooooo

00000000000000000000000000000
000000000000000000000000000000

1
gbgobogboobooboboobuobobbobldy=—
x

gbhooboobobobbobboo IInnoboobooboobo
O000000X={xz€eR|2z£40} 0000000000000
gboboboooobbbuoooobobboooon

00 2700 f:A—BOODO
Gr={(a.b) € Ax B|b=f(a)}

000 fO0000O (graph) 000000 O0ODOOODODODOOOOO
ABOOOODOOODOOODOOUOOA=B=ROO0OOOOO
goboboogobbbooooboobuooan

U 28 oo uooobobbooooobbboa
oboobobobooboobd e, b0 e<b00dboonooon
0000000 {z€R|a<2<b}00000000[q b]0
D00{zeR|la<z<b}00000000(a b)0000
O0000000{zeR|a<z<db}000{zeR|a<z<b}
O00000000O0O0O0O0O0O0OO00O[a,b)000 (a,b]00
gobobooood
4 N
={zeR|a<z<b}

N /
goog
co00000D0000D0D0O00D0O0OO[a,00)000000DOO
gboooboobon

[a, 0)={zrz€eR|a<r <0}

D000{zeR|a<2}000000000[a,00]000 000
0000000000000000000
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0 2.9 O
(1) f:R—RO f(z)=22000000000000000 R
OD00D0DO0O0O0ROOOOf(1)=/f(-1)=10000000
0000000200000000000000000000
;00000000
00 f(R)0 0000D0O0O0OOOOO

JR)={yeR|y=0}=[0,00)

000 (—»0000 2120000 f00000000
(2) f:R—[0,00)0 f(z)=2?000000000 f0 (1)0
f0000000000000000000()000000
0000000 ()0 f000000000(2)0 f0000
000
(3) f(x) =22 0000020000000000000000
00000000f0 f:[0,00)—ROD0D0000000OO
00 f([0,00)) 0000 [0,00) 0000
00000f0[0,00)000000000000000 (-
0000 2140000000000 (0000 2.12)0
(4) 0000 f(z)=2?0000020000000000000
0000000000000000f0 f:[0,00)—[0,00)
0000000000
(3)00000000 0000000000000 £([0, co))
0[0,00)00000000000000000C
(5) 000000 f(z) =220000020000000000
00000000000 A= {zeQ|z>0}0000f0
fiA—ADDDDODOOOOOOOOOO fOO0O0O0000
00000 (—»0000 2.12)0

0Dooo 2.12

()0 29 (10000 fR)={yecR|y>0}00000000
000000000 gz)=+/2 0000000000000
000

(2)0293)0000 f([0,00))=[0,00)000000000
00000000 g(x)=4/z0000000000000000

(3)0 29 ()0 f0000D0O0DOOOOOY200000000
0000000000

0000 *213 0000 212000000 y=+/200000
O000000000000000000000000000y =+«
00294)000y=2000000000000000000
gboogboboobuogbuoobogbboobuoobooboo
O00f(x) 0000000000000 0O0O0O0ODO0O0OOO0OOO
y=+/x0000 f(x)U0O0O0O0D0O0O0O0O0O0OOO0O0OOODOOO
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0000y =z000000000 29 (1)0000 f(R) =

{yeR|y>0}000000000000000000000 ([a, b]
00000000000 f(e)0 f(b)0000 000 a=f(c)0
DO0c(a<e<b)00000)000000000

0000 214 A BOOOOOOODOODOOf:A—BOO
DDD<V$1,$2€A$1<$2 :>f($1><f($2))DDDDDDDD
googooao

00 210 f:A—BOODOODOOODOOBOOODOO OO
000 f(e)=b000 ADDD «00OOOOODOOO

00 f:A—BOOODOOOOBOOOODGOOOOOOO
e ADDDOO00O0b=fa) 0000000
f0000000 f(a) = flas) =b0000000 ay =ap O
00000000000000f(o)=b000000 «0000
ooooon

f:A—BOOOOOOOOObe BOOOOOb = f(a)O
O00 ecADDODODOODOOODOOODOODODOO fODDOO
(inverse map) 0000 f':B—AO00000O0OOODODOOOO
fla=bD000f'(W)=a0000000000

flof=idys fof '=idp
gdoogdd

0 2.11

(1) f:R—(0,00)0 f(z) =2°0000 fO00000O0 (4
0000)00000f0000 f':(0,00)—ROODOO
00000 f~Yz)=log,z 0000

(2) f:[0,00) —[0,00)0 f(z) =2200000000000
000000000 f~':[0,00)—[0,00) 0000000
00 f'(z)=+/20000

(&fﬂ—%yg}—ﬂ—lejhj:mmDDDDDDDDD
0 (40000)00000000 f:[-1,1]—| -2, = |

00000000000 fYo)=arcsinz 00000000
00 z0000sin'200000000000000000
gbooboboooooboboboboobobob 4000
gbooboboboboo

0000215 f:A—B,g:B—CO000O
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(1) fO0 ¢y0000000gof:A—C 00000000000

000
(2) f0 ¢g0000O000Ogof:A—COO00D0O000O0OO0O

0oo
gbobbooogbbbuooobbbdoooobbogo

0000216 X,YOOOOOOf:X—YOOOOA BO X
000000000000 f(A) ={f(a)|]acAY={beY|JacAb= f(a)}
000000

(1) f(IAUB) = f(A)Uf(B)0D00D0DO

(2) f(ANB)C f(A)nf(B)D0DO0OO

3) f(ANB)=f(A)Nf(B)000000O0O0O0O0OO

0000 (1),(2)00000000 2600000000(3)00
0000000 ANB=pO00 f(ANf(B)£0p0000000

0000

ooono 217 0000 fO0D000Q00OO0O0OOOOODOOODO
goodooooobbobbbooooooooooo
(1)A={1,230B={1,23)} f: A— B0 f(1) =2, f(2) =
1,f(3)=3000000
(2) A={1,2,3,4)0B8=1{1,23} f: A—BO f(1) =2, f(2) =
1ﬂ)f3ﬂ)—1DDDDDD
fTR—[-1,1]0 f(x)=sinz000000
Fil0, )—%RDj{)—ﬁDDDDDD
F:00,00) RO f(z)=2?000000
F:10,00)—10,00)0 flz) =2°00000000
>0000 Yx000000000000000
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